

COMMON FIXED POINT THEOREMS IN METRIC SPACES

*Olga Hadžić, Ljiljana Gajić*

*Prirodno-matematički fakultet. Institut za matematiku  
21000 Novi Sad, ul. dr Ilije Djuričića br.4, Jugoslavija*

ABSTRACT

In this paper we generalize the Theorem [3] and Theorem 1 from [4].

The following common fixed point theorem is proved in [3].

**THEOREM A.** *Let  $(X,d)$  be a complete metric space,  $S$  and  $T$  one to one continuous mappings from  $X$  into  $X$ ,  $A$  a continuous mapping from  $X$  into  $SX \cap TX$  and  $A$  commute with  $S$  and  $T$ .*

*Suppose that the following conditions are satisfied:*

1. *For every  $x \in X$  there exists  $n(x) \in \mathbb{N}$  so that for every  $y \in X$ :*

$$d(A^{n(x)}x, A^{n(x)}y) \leq q \min\{d(Sx, Ty), d(Tx, Sy)\}$$

*where  $q \in [0,1)$ .*

2. *For every  $x \in X$ , one of the sets*

$$\{A^{mT^p}(x) \mid p \in \mathbb{N}, m \in \{0,1,\dots,n(x)-1\}\}$$

$$\{A^{mS^p}(x) \mid p \in \mathbb{N}, m \in \{0,1,\dots,n(x)-1\}\}$$

*is bounded.*

---

AMS Mathematics subject classification (1980): 47H10

Key words and phrases: Common fixed points, metric spaces.

Then there exists one and only one element  $z \in X$  such that:

$$z = Az = Sz = Tz.$$

In the proof of Theorem 1, which is a generalization of Theorem A, we shall use the following Lemma proved in [5].

LEMMA. Let  $Q_q = \{g | g \in \mathbb{R}^+, g \leq q + a(g)\}$ , for every  $q \in \mathbb{R}^+$ , where  $a : [0, \infty) \rightarrow [0, \infty)$  is a given non-decreasing function such that  $\lim_{n \rightarrow \infty} a^n(g) = 0$  for  $g > 0$  and  $\lim_{g \rightarrow \infty} (g - a(g)) = \infty$ . Then:

- 1)  $Q'_q \neq \emptyset$  and  $\hat{a}(Q_q) \subseteq Q_q$ , where  $\hat{a}(g) = q + a(g)$ ,  $g \geq 0$ .
- 2)  $Q_q$  is bounded for each  $q > 0$  and the maximal solution  $m(q) = \sup_{t \in Q_q} t$  of the inequality  $g \leq q + a(g)$  is a fixed point of  $\hat{a}$ .
- 3) The maximal solution  $m(0)$  of the inequality  $g \leq a(g)$  is equal to 0.

THEOREM 1. Let  $(X, d), S, T$  and  $A$  be as in Theorem A, where instead of 1. and 2., the following conditions are satisfied:

- 1) For every  $x \in X$  there exists  $n(x) \in \mathbb{N}$  so that for every  $y \in X$ :
 
$$d(A^{n(x)}x, A^{n(x)}y) \leq \min\{q(d(Sx, Ty)), d(Sx, Ty), d(Tx, Sy)\}$$
 where  $q : [0, \infty) \rightarrow [0, 1)$  is a nondecreasing function such that  $\lim_{t \rightarrow \infty} t(1 - q(t)) = \infty$ .
- 2) For some  $x_0 \in X$  one of the sets
 
$$\{A^{m_p T}(x_0) | p \in \mathbb{N}, m \in \{0, 1, \dots, n(x_0) - 1\}\}$$
 and
 
$$\{A^{m_p S}(x_0) | p \in \mathbb{N}, m \in \{0, 1, \dots, n(x_0) - 1\}\}$$
 is bounded.

Then there exists one and only one element  $y \in X$  such that:

$$y = Sy = Ty = Ay$$

**P r o o f.** Let us suppose that the set:

$$M = \{A^{m,p}T^k x_0 \mid p \in \mathbb{N}, m \in \{0, 1, \dots, n(x_0) - 1\}\}$$

is bounded. We shall prove that the set:

$$\{d(A^{n,k}T^k x_0, Sx_0) \mid n, k \in \mathbb{N}_0\} \quad (\mathbb{N}_0 = \mathbb{N} \cup \{0\})$$

is bounded. Let  $n = p \cdot n(x_0) + r$ , where  $0 \leq r < n(x_0)$ . Let us prove that:

$$(1) \quad d(A^{p \cdot n(x_0) + r} T^k x_0, Sx_0) \leq b_p, \text{ for every } p \in \mathbb{N} \text{ and } k \in \mathbb{N}_0$$

where  $b_0 = \sup_{t \in M \cup \{A^{n(x_0)} x_0\}} d(t, Sx_0)$  and  $b_p = b_0 + q(b_{p-1})b_{p-1}$ ,

$p \in \mathbb{N}$ .

The proof of (1) will be given by induction in respect to  $p \in \mathbb{N}$ .

For  $p = 1$  we have that:

$$\begin{aligned} d(A^{n(x_0) + r} T^k x_0, Sx_0) &\leq d(A^{n(x_0) + r} T^k x_0, A^{n(x_0)} x_0) + d(A^{n(x_0)} x_0, Sx_0) \\ &\leq q(d(Sx_0, A^{r, k+1} x_0)) d(Sx_0, A^{r, k+1} x_0) + d(A^{n(x_0)} x_0, Sx_0) \\ &\leq q(b_0)b_0 + b_0 = b_1, \text{ for every } k \in \mathbb{N}_0. \end{aligned}$$

Suppose that (1) is satisfied for some  $p \in \mathbb{N}$  and every  $k \in \mathbb{N}_0$  and prove that

$$d(A^{(p+1)n(x_0) + r} T^k x_0, Sx_0) \leq b_{p+1}, \text{ for every } k \in \mathbb{N}_0.$$

We have that:

$$\begin{aligned} d(A^{(p+1)n(x_0) + r} T^k x_0, Sx_0) &\leq d(A^{(p+1)n(x_0) + r} T^k x_0, A^{n(x_0)} x_0) + \\ &+ d(A^{n(x_0)} x_0, Sx_0) \leq q(d(Sx_0, A^{pn(x_0) + r, k+1} x_0)) d(Sx_0, \\ &A^{pn(x_0) + r, k+1} x_0) + d(A^{n(x_0)} x_0, Sx_0) \leq b_0 + q(b_p)b_p = b_{p+1}. \end{aligned}$$

Let  $a(t) = t \cdot q(t)$ ,  $t \geq 0$ . Then  $a^n(t) \leq t(q(t))^n$ , for every  $t \geq 0$  and since  $q(t) < 1$ , for every  $t \geq 0$  it follows that  $\lim_{n \rightarrow \infty} a^n(t) = 0$ . It is obvious that  $\lim_{t \rightarrow \infty} [t - a(t)] = \infty$  and so we may apply the Lemma. Let  $\hat{a}(t) = b_0 + a(t)$  ( $t \geq 0$ ). From  $b_0 \leq \hat{a}(b_0)$  we obtain that  $b_0 \in Q_{b_0}$  and since  $\hat{a}(Q_{b_0}) \subseteq Q_{b_0}$  it follows that  $\{b_p | p \in \mathbb{N}\} \subseteq Q_{b_0}$  which implies that the sequence  $\{b_p\}_{p \in \mathbb{N}}$  is bounded. Thus, the set:

$$\{d(A^n T^k x_0, Sx_0) | n, k \in \mathbb{N}_0\}$$

is bounded and let  $D = \sup_{n, k \in \mathbb{N}_0} d(A^n T^k x_0, Sx_0)$ . Since

$AX \subseteq SX \cap TX$  it follows that there exists a sequence  $\{x_n\}_{n \in \mathbb{N}_0}$  such that  $Sx_{2k} = A^{n(x_{2k-1})} x_{2k-1}$ ,  $Tx_{2k-1} = A^{n(x_{2k-2})} x_{2k-2}$ ,  $k \in \mathbb{N}$ .

Let:

$$y_m = \begin{cases} Tx_{2k-1}, & m = 2k-1 \\ Sx_{2k}, & m = 2k \end{cases} \quad (k \in \mathbb{N}).$$

We shall prove that  $\{y_m\}_{m \in \mathbb{N}}$  is a Cauchy sequence. For every  $k \in \mathbb{N}$  we have:

$$\begin{aligned} d(y_{2k-1}, y_{2k}) &= d(Tx_{2k-1}, Sx_{2k}) = d(A^{n(x_{2k-2})} x_{2k-2}, A^{n(x_{2k-1})} x_{2k-1}) \\ &= d(A^{n(x_{2k-2})} x_{2k-2}, A^{n(x_{2k-1})} T^{-1} Tx_{2k-1}) = \\ &= d(A^{n(x_{2k-2})} x_{2k-2}, A^{n(x_{2k-1})} T^{-1} A^{n(x_{2k-2})} x_{2k-2}) \leq \\ &\leq q(d(Sx_{2k-2}, A^{n(x_{2k-1})} x_{2k-2})) d(Sx_{2k-2}, A^{n(x_{2k-1})} x_{2k-2}) = \\ &= q(d(A^{n(x_{2k-3})} x_{2k-3}, A^{n(x_{2k-1})} x_{2k-2})) \cdot d(A^{n(x_{2k-3})} x_{2k-3}, \\ &A^{n(x_{2k-1})} x_{2k-2}) \end{aligned}$$

Further:

$$\begin{aligned} d(A^{n(x_1)} x_1, A^k x_2) &= d(A^{n(x_1)} x_1, A^{k_S^{-1}} A^{n(x_1)} x_1) \leq d(Tx_1, A^k x_1) = \\ &= d(A^{n(x_0)} x_0, A^k x_1) = d(A^{n(x_0)} x_0, A^{k_T^{-1}} A^{n(x_0)} x_0) \leq \\ &\leq q(d(Sx_0, A^k x_0)) d(Sx_0, A^k x_0). \end{aligned}$$

Suppose that for some  $k > 2$  and every  $m \in \mathbb{N}$ :

$$(2) \quad d(A^{n(x_{2k-3})} x_{2k-3}, A^m x_{2k-2}) \leq (q(d(Sx_0, A^m x_0)))^{k-1} d(Sx_0, A^m x_0).$$

Then:

$$\begin{aligned} d(A^{n(x_{2k-1})} x_{2k-1}, A^m x_{2k}) &= d(A^{n(x_{2k-1})} x_{2k-1}, A^{m_S^{-1}} Sx_{2k}) = \\ &= d(A^{n(x_{2k-1})} x_{2k-1}, A^{m_S^{-1}} A^{n(x_{2k-1})} x_{2k-1}) \leq \\ &\leq d(Tx_{2k-1}, A^m x_{2k-1}) = d(A^{n(x_{2k-2})} x_{2k-2}, A^m x_{2k-1}) = \\ &= d(A^{n(x_{2k-2})} x_{2k-2}, A^{m_T^{-1}} A^{n(x_{2k-2})} x_{2k-2}) \leq \\ &\leq q(d(Sx_{2k-2}, A^m x_{2k-2})) d(Sx_{2k-2}, A^m x_{2k-2}) = \\ &= q(d(A^{n(x_{2k-3})} x_{2k-3}, A^m x_{2k-2})) d(A^{n(x_{2k-3})} x_{2k-3}, A^m x_{2k-2}) \leq \\ &\leq q(d(Sx_0, A^m x_0)) (q(d(Sx_0, A^m x_0)))^{k-1} d(Sx_0, A^m x_0) = \\ &= (q(d(Sx_0, A^m x_0)))^k d(Sx_0, A^m x_0) \end{aligned}$$

and, so (2) is satisfied for every  $k \in \mathbb{N}$  and every  $m \in \mathbb{N}$ .

So we have that:

$$\begin{aligned} d(y_{2k-1}, y_{2k}) &\leq (q(d(Sx_0, A^{n(x_{2k-1})} x_0)))^k d(Sx_0, A^{n(x_{2k-1})} x_0) \leq \\ &\leq q^k(D)D. \end{aligned}$$

Further:

$$d(y_{2k}, y_{2k+1}) = d(Sx_{2k}, Tx_{2k+1}) = d(A^{n(x_{2k-1})} x_{2k-1}, A^{n(x_{2k})} x_{2k}) \leq \\ \leq q^k(D)D$$

and so:

$$d(y_m, y_{m+1}) \leq (q(D))^{\frac{m+1}{2}} D, \quad m \in \mathbb{N}.$$

This implies that  $\{y_m\}_{m \in \mathbb{N}}$  is a Cauchy sequence and let  $\lim_{m \rightarrow \infty} y_m = y$ . Since  $\{Sx_{2k}\}_{k \in \mathbb{N}}$  and  $\{Tx_{2k-1}\}_{k \in \mathbb{N}}$  are subsequence of the sequence  $\{y_n\}_{n \in \mathbb{N}}$  it follows that:

$$\lim_{k \rightarrow \infty} Sx_{2k} = \lim_{k \rightarrow \infty} Tx_{2k-1} = a$$

We have that:

$$d(Sx_{2k}, Ax_{2k}) = d(A^{n(x_{2k-1})} x_{2k-1}, Ax_{2k}) \leq (q(d(Sx_0, Ax_0)))^k.$$

$$\cdot d(Sx_0, Ax_0) \leq (q(D))^k D$$

for every  $k \in \mathbb{N}$  and so  $\lim_{k \rightarrow \infty} Ax_{2k} = \lim_{k \rightarrow \infty} Sx_{2k} = y$ . Furthermore,

$$d(Sx_{2k}, A^2 x_{2k}) = d(A^{n(x_{2k-1})} x_{2k-1}, A^2 x_{2k}) \leq (q(d(Sx_0, A^2 x_0)))^k.$$

$\cdot d(Sx_0, A^2 x_0) \leq (q(D))^k D$ , for every  $k \in \mathbb{N}$ , which implies that:

$$\lim_{k \rightarrow \infty} A^2 x_{2k} = \lim_{k \rightarrow \infty} Sx_{2k} = y.$$

From the continuity of  $A$  and  $S$  and the commutativity we obtain that:

$$Ay = A(\lim_{k \rightarrow \infty} Sx_{2k}) = S(\lim_{k \rightarrow \infty} Ax_{2k}) = Sy.$$

$$\text{The relation } y = Ay \text{ follows from } y = \lim_{k \rightarrow \infty} A^2 x_{2k} = \\ = A(\lim_{k \rightarrow \infty} Ax_{2k}) = Ay.$$

Similarly, it follows that  $Ay = Ty$  and so we have that  $y$  is a common fixed point for the mappings  $A, S$  and  $T$ .

Let us prove the uniqueness of the common fixed point  $y$ .

Suppose that  $z \in X$  and  $z = Az = Tz = Sz$ . Then we have that:

$$\begin{aligned} d(z,y) &= d(A^n(z)_z, A^n(z)_y) \leq q(d(Sz, Ty))d(Sz, Ty) \\ &= q(d(z,y))d(z,y) \end{aligned}$$

which implies that  $z = y$  and so  $y$  is the unique common fixed point for mappings  $A, S$  and  $T$ .

The following theorem is a generalization of Theorem 1 from [4].

**THEOREM 2.** Let  $(X, d)$  be a complete metric space,  $S$  and  $T$  continuous mappings of  $X$  into  $X$ ,  $A_j : X \rightarrow SX \cap TX$  ( $j \in \mathbb{N}$ ) so that  $A_j$  commutes with  $S$  and  $T$ ,  $q : [0, \infty) \rightarrow [0, 1)$  a nondecreasing continuous function and for every  $x, y \in X$ :

$$d(A_i x, A_j y) \leq q(d(Sx, Ty))d(Sx, Ty), \quad i \neq j \quad (i, j \in \mathbb{N}).$$

Then there is a unique common fixed point for  $\{A_j\}_{j \in \mathbb{N}}$ ,  $S$  and  $T$ .

**P r o o f.** The proof is similar to the proof of Theorem 1 from [4]. As in [4], there exists a sequence  $\{x_n\}_{n \in \mathbb{N}}$  such that

$$Tx_{2n+1} = A_{2n+1}x_{2n}, \quad n \in \mathbb{N}_0, \quad Sx_{2n} = A_{2n}x_{2n-1}, \quad n \in \mathbb{N}$$

where  $x_0$  is an arbitrary element from  $X$ . Let us prove that there exists  $w \in X$  so that  $\lim_{n \rightarrow \infty} Tx_{2n+1} = \lim_{n \rightarrow \infty} Sx_{2n} = w$ . For every  $n \in \mathbb{N}$  we have:

$$\begin{aligned} d(Tx_{2n-1}, Sx_{2n}) &= d(A_{2n-1}x_{2n-2}, A_{2n}x_{2n-1}) \leq q(d(Sx_{2n-2}, Tx_{2n-1})) \\ d(Sx_{2n-2}, Tx_{2n-1}) &= q(d(A_{2n-2}x_{2n-3}, A_{2n-1}x_{2n-2}))d(A_{2n-2}x_{2n-3}, \\ &A_{2n-1}x_{2n-2}) \leq \\ &\leq q(d(A_{2n-2}x_{2n-3}, A_{2n-1}x_{2n-2}))q(d(Tx_{2n-3}, Sx_{2n-2}))d(Tx_{2n-3}, Sx_{2n-2}) = \\ &= q(d(A_{2n-2}x_{2n-3}, A_{2n-1}x_{2n-2}))q(d(A_{2n-3}x_{2n-4}, A_{2n-2}x_{2n-3})) \times \end{aligned}$$

$$\begin{aligned} \times d(A_{2n-3}x_{2n-4}, A_{2n-2}x_{2n-3}) &\leq \prod_{m=2}^{2n-1} q(d(A_{m-1}x_{m-2}, A_m x_{m-1})) \\ \times d(A_1x_0, A_2x_1) &= q(d(Sx_{2n-2}, Tx_{2n-1}))q(d(Tx_{2n-3}, Sx_{2n-2})) \dots \\ \dots & q(d(Tx_1, Sx_2))d(Tx_1, Sx_2). \end{aligned}$$

This implies that:

$$d(Tx_{2n-1}, Sx_{2n}) \leq d(Tx_1, Sx_2)$$

and similarly:

$$d(Sx_{2n}, Tx_{2n+1}) \leq d(Tx_1, Sx_2).$$

Since  $q$  is nondecreasing we obtain that:

$$\begin{aligned} d(Tx_{2n-1}, Sx_{2n}) &\leq \left( \prod_{m=2}^{2n-1} q(d(Tx_1, Sx_2)) \right) d(Tx_1, Sx_2) \\ &= (q(d(Tx_1, Sx_2)))^{2n-2} d(Tx_1, Sx_2) \end{aligned}$$

and

$$d(Sx_{2n}, Tx_{2n+1}) \leq (q(d(Tx_1, Sx_2)))^{2n-1} d(Tx_1, Sx_2).$$

Then we have:

$$\begin{aligned} d(Tx_{2n-1}, Tx_{2n+1}) &\leq d(Tx_{2n-1}, Sx_{2n}) + d(Sx_{2n}, Tx_{2n+1}) \leq \\ &\leq [(q(d(Tx_1, Sx_2)))^{2n-1} + (q(d(Tx_1, Sx_2)))^{2n-2}] d(Tx_1, Sx_2) \end{aligned}$$

and so there exists  $\lim_{n \rightarrow \infty} Tx_{2n-1} = w$ .

From  $\lim_{n \rightarrow \infty} d(Tx_{2n-1}, Sx_{2n}) = 0$  we obtain that  $\lim_{n \rightarrow \infty} Sx_{2n} = w$ .

As in [4] we have that:

$$Tw = \lim_{n \rightarrow \infty} A_{2n} A_{2n-1} x_{2n-2} \quad \text{and} \quad Sw = \lim_{n \rightarrow \infty} A_{2n+1} A_{2n} x_{2n-1} \quad \text{and so:}$$

$$(3) \quad d(Tw, Sw) = \lim_{n \rightarrow \infty} d(A_{2n} A_{2n-1} x_{2n-2}, A_{2n+1} A_{2n} x_{2n-1}).$$

Let us prove that the limit in (3) is equal to zero.



We have that:

$$\begin{aligned}
 d(A_{2n}A_{2n-1}x_{2n-2}, A_{2n+1}A_{2n}x_{2n-1}) &\leq q(d(SA_{2n-1}x_{2n-2}, TA_{2n}x_{2n-1})) \\
 d(SA_{2n-1}x_{2n-2}, TA_{2n}x_{2n-1}) &= q(d(A_{2n-1}A_{2n-2}x_{2n-3}, A_{2n}A_{2n-1}x_{2n-2})) \\
 d(A_{2n-1}A_{2n-2}x_{2n-3}, A_{2n}A_{2n-1}x_{2n-2}) &\leq q(d(A_{2n-1}A_{2n-2}x_{2n-3}, \\
 &, A_{2n}A_{2n-1}x_{2n-2}))q(d(TA_{2n-2}x_{2n-3}, SA_{2n-1}x_{2n-2}))d(TA_{2n-2}x_{2n-3}, \\
 &, SA_{2n-1}x_{2n-2})) = q(d(A_{2n-1}A_{2n-2}x_{2n-3}, A_{2n}A_{2n-1}x_{2n-2})) \\
 q(d(A_{2n-2}A_{2n-3}x_{2n-4}, A_{2n-1}A_{2n-2}x_{2n-3}))d(A_{2n-2}A_{2n-3}x_{2n-4}, \\
 &, A_{2n-1}A_{2n-2}x_{2n-3}) \leq \dots \leq \left( \prod_{m=3}^{2n-1} q(d(A_m A_{m-1}x_{m-2}, A_{m+1}A_mx_{m-1})) \right) \\
 d(A_2A_1x_0, A_3A_2x_1).
 \end{aligned}$$

From this we obtain:

$$\begin{aligned}
 d(A_{2n}A_{2n-1}x_{2n-2}, A_{2n+1}A_{2n}x_{2n-1}) &\leq \left( \prod_{m=3}^{2n-1} q(d(A_2A_1x_0, A_3A_2x_1)) \right) \times \\
 \times d(A_2A_1x_0, A_3A_2x_1) &= (q(d(A_2A_1x_0, A_3A_2x_1)))^{2n-3} d(A_2A_1x_0, A_3A_2x_1)
 \end{aligned}$$

which implies that:

$$\lim_{n \rightarrow \infty} d(A_{2n}A_{2n-1}x_{2n-2}, A_{2n+1}A_{2n}x_{2n-1}) = 0$$

Thus, we have that  $Tw = Sw$ . Let us prove that  $A_n w = Sw$ .

Suppose that  $n \neq 2m$ . Then we have that:

$$\begin{aligned}
 d(A_{2m}Tx_{2m-1}, A_n w) &\leq q(d(STx_{2m-1}, Tw))d(STx_{2m-1}, Tw) \leq \\
 &\leq d(STx_{2m-1}, Tw)
 \end{aligned}$$

and since  $A_{2m}Tx_{2m-1} = TA_{2m}x_{2m-1} = TSx_{2m}$  we obtain that:

$$d(TSx_{2m}, A_n w) \leq d(STx_{2m-1}, Tw) \quad (2m \neq n).$$

This implies that:

$$\begin{aligned} d(Tw, A_n w) &= \lim_{m \rightarrow \infty} d(TSx_{2m}, A_n w) = \lim_{m \rightarrow \infty} d(A_{2m} Tx_{2m-1}, A_n w) \leq \\ &\leq d(Sw, Tw) \quad (n \in \mathbb{N}) \end{aligned}$$

and since  $Sw = Tw$  we obtain that  $Tw = A_n w$ . We shall prove that  $A_n w$  is the unique fixed point of the mappings  $\{A_n\}_{n \in \mathbb{N}}$ ,  $S$  and  $T$ .

Let  $2m \neq n$ . Then from:

$$\begin{aligned} d(A_n w, A_n A_n w) &\leq d(A_n w, A_{2m} Tx_{2m-1}) + d(A_{2m} Tx_{2m-1}, A_n A_n w) \leq \\ &\leq d(A_n w, TA_{2m} x_{2m-1}) + q(d(STx_{2m-1}, TA_n w))d(STx_{2m-1}, TA_n w) = \\ &= d(A_n w, TSx_{2m}) + q(d(STx_{2m-1}, TA_n w))d(STx_{2m-1}, TA_n w) \end{aligned}$$

and  $A_n Tw = TA_n w = A_n A_n w = SA_n w$  we obtain that:

$$d(A_n w, A_n A_n w) \leq d(A_n w, TSx_{2m}) + q(d(STx_{2m-1}, A_n A_n w))d(STx_{2m-1}, A_n A_n w),$$

for every  $n \in \mathbb{N}$  and  $m \in \mathbb{N}$  such that  $2m \neq n$  which implies that:

$$\begin{aligned} d(A_n w, A_n A_n w) &\leq \lim_{m \rightarrow \infty} d(A_n w, TSx_{2m}) + \lim_{m \rightarrow \infty} q(d(STx_{2m-1}, A_n A_n w)) \cdot \\ d(STx_{2m-1}, A_n A_n w) &= d(A_n w, Tw) + q(d(Sw, A_n A_n w))d(Sw, A_n A_n w) = \\ &= q(d(A_n w, A_n A_n w))d(A_n w, A_n A_n w). \end{aligned}$$

Since  $q(d(A_n w, A_n A_n w)) < 1$  it follows that  $d(A_n w, A_n A_n w) = 0$  and so  $A_n w$  is a common fixed point for  $\{A_n\}_{n \in \mathbb{N}}$ ,  $S$  and  $T$ . Let us prove that  $A_n w$  is the unique fixed point for  $\{A_n\}_{n \in \mathbb{N}}$ ,  $S$  and  $T$ . Suppose that  $u = Tu = A_n u = Su$ , for every  $n \in \mathbb{N}$  and  $v = Tv = A_n v = Sv$ , for every  $n \in \mathbb{N}$ . Then we have that:

$$d(u, v) = d(A_n u, A_n v) \leq q(d(Su, Tv))d(Su, Tv) \quad (n \neq m)$$

and so  $d(u, v) \leq q(d(u, v))d(u, v)$ . From this we obtain that  $u = v$ .

## REFERENCES

- [1] B. Fisher, *Mappings with a common fixed point*, *Math.Sem. Notes, Kobe Univ.*, 7 (1979), 81-84.
- [2] L.F. Guseman, *Fixed point theorems for mappings with a contractive iterate at a point*, *Proc.Amer.Math.Soc.*, 26 (1970), 615-618.
- [3] O. Hadžić, *A common fixed point theorem in metric spaces*, *Math.Sem. Notes, Kobe Univ.*, 10 (1982), 317-322.
- [4] O. Hadžić, *Common fixed point theorems for family of mappings in complete metric spaces*, *Math. Japonica*, 29, 1 (1984), 127-134.
- [5] A. Miczko, B. Palczewski, *Some remarks on the Sehgal generalized contraction mappings*, *Zeszyty Naukowe Politechniki Gdanskiej, Matematyka, XII (1982)*, 21-32.
- [6] V.M. Sehgal, *A fixed point theorem for mappings with a contractive iterate*, *Proc.Amer.Math.Soc.*, 23 (1969), 631-634.

Received by the editors August 7, 1984.

## REZIME

TEOREME O ZAJEDNIČKOJ NEPOKRETNOSTI TAČKI  
U METRIČKIM PROSTORIMA

U ovom radu su uopštene teorema iz rada [3] i teorema 1 iz rada [4].